VEP.rouron

.06

NMHeBmonpuxum “DL63”- 3aaBNeHHbIU NaTeHT

Pneumatic clamp “DL63” - Patent pending

Pen. 15/10/2008r.




V EI AUTOMATION Sl

MapameTpbl 1 Onuun
Informations and Options

Tecnolube NYOQEL 774

40) Tecnolube POLYMER 400




2

VEI AUTOMATION S.r.l

NAPAMETPbI n ONUUN

HanmeHoBaHue Kon Kon-Bo HaumeHoBaHue Kon Kon-Bo
Description Code Q. at Description Code Q. at
1 | LleHTpanbHbI BEPXHWIA pblvar 06336 1 24 | BuHT STEI M5x6 1/326 3
Central upper clamping arm Screw STEI M5x6
2 Spannarm Unterer mittig 06241 1 25 | WtudT ANS NOALIMNHMKOB 04242 2
Central inferior clamping arm Pin for bearings
3 CTonopHbIN WTNdT 05683 4 26 | Ocb 06244/45-90 2
Arm limit pin Shaft
4 LWanba ans euHta M8 1/259 13 27 | YnnoTHeHue 06244/45-90 2
Washer for M8 screw Sealing bearing
5 BuHT M8x16 1/121 2 28 | PonukoBbln nogLWUNHUK 04880/C 4
Screw TCEI M8x16 Rolling Bearing
6 Ynop pblyara 06252 1* 29 | JleBast 6okoBUHA 06240/SX 1
Arm limit dowel Left flanck
7 BepxHuii 6rok ynopa 06401 2 30 | 3awmTHas nnacTuHa 06250 1
Upper arm block Protective guard
8 HwxHuin 6nok ynopa 06255 2 31 | BuHT TBEI M5x8 1/323 1
Inferior arm block Screw TBEI M5x8
9 Bunt TCEI M8x25 1/018 8 32 | BepxHsis kpbiwka 05089 1
Screw TCEI M8x25 Superior head
10 | OTKUMHOM WTUT pblvara 05776 1 33 | YnnoTHuT. konbuo 63.22x1.78 4/583 2
Release pin arm O-ring 63.22x1.78
11 | BepxHuin coegmHut. nanew, 06398 2 34 | lNopLeHb 4/580 2
Upper connecting rod Piston
12 | Wtndt coeamHenns 05623 1 35 | OrpaHuuuTens xoga 05116/-- 1
CTEPXHA-KpMBOLLUNA Stroke block
Pin connecting rod-crank 36 | Mnb3a umnuHopa 06243/68 1
13 | OnactnyHbIn wun @2.5x25 3/208 1 Barrel
Elastic thorn @2.5x25 37 | HwkHss kpbilika 05088 1
14 | OnactnyHbin wun @2.5x18 1/123 1 Inferior head
Elastic thorn ©2.5x18 38 | Waiba ans suHta M6 1/248 4
15 | WtndT coeanHeHns 06246 1 Washer for M6 screw
CTepXHA-HK3a KpusoLmna 39 | BuHT TCEI M6x150 1/379 4
Pin connecting rod-inferior crank Screw TCEI M6x150
16 | CtonopHoe konbuo Seeger 11E 3/114 2 40 | Moaknapgka 05297 1
Seeger 11E Pad
17 | Y3en kpuBowwuna 06248/C 2 41 | CronopHoe konbLo SeegerRB28 3/381 1
Crank group Seeger RB28
18 | HwxHuiA coeanHuT. cTepxeHb 06245 2 42 | BuHT TCEI M8x30 1/225 3
Inferior connecting rod Screw TCEI M8x30
19 | CronopHoe korbLo Seeger 12E 3/115 2 43 | Unnunaopuyeckuii wnn @6x40 1/433 2
Seeger 12E Cylindric thorn @6x40
20 | Wtundt ans nogwwunHukos DL 63 06247 1 44 | BuHT TCEI M5x20 1/019 1
Pin for bearings DL 63 Screw TCEI M5x20
21 | PonunkoBbI NOALIMMNHUK 04993/C 2 45 | NIHayKTMBHBIN AaTynk 05830 1
Rolling bearning Endschalter
22 | Bunkosas getanb 06242 1 Inuctive sensor
Fork 46 | MoawwWnHUK ANs KpMBOLWMNA 3/379 2
23 | Wtudt patumka 05684 2 Bearing for crank
Sensor pin 47 | MNpaBasi 6GokoBMHa 06240/DX 1
INFORMATIONS and OPTIONS Right flank
Quantiant 2 fur Spanner typ “B2”
*  KonuyecTtBo 2 ans npmwxmumoB Tuna ‘B2”
? M8x16 | M8x25 | M5x6 | M5x8 | M6x150 | M8x30 | M5x20
MomeHT 3axnma 25Nm | 25Nm | 5.9 5.9 10 Nm | 25 Nm 5.9
Clamping torque Nm Nm Nm
Tuna cmasku Loctite 242 cuHUM | - 242 CnHmn | -—---
Loctite type 242 Blue 242 blue




VEI AUTOMATION Bzl

ONMMUCAHUE OBO3HAYEHUA KOOA MNMPU 3AKA3E
COMMERCIAL CODE DESCRIPTION

DL63 - A1

(@)
(=]

Twvn npyxmuma n gnameTp
unnuHapa
DL63 = DL63 (c umnuHgpom J63)

Twvn gaTyuka:

Clamp type and cylinder bore:

O = 6e3 patuuka
DL63 = DL63 (with cylinder @ 63)

| = NHAYKTUBHBIV

Type of sensor
O = without
| = induttiva

lMonoxeHne 3aXXMMHOro pblyara:

A1 = nonoxeHue tun "AT (cm.cTp. 4)
A2 = nonoxexue tun "A2" ( cm.cTp. 5)
B1 = nonoxexwne tun "EST ( cm.cTp.6)
B2 = nonoxenwne tun "B2" (cm.cTp. 7)

Yron packpbiBa BEpXHEro pblyara

Assembly position of clamping arms: Opening angle of upper clamping arm

A1 = position type "AT (see page 4)
A2 = position type "A2" (see page 5)
B1 = position type "BY (see page 6)

B2 = position type "B2" (see page 7)

Twn pbivara:
C = ueHTpanbHbIN
Type of clamping arm:

C = central
* BO3MOXHbIE yria packpblBa BEPXHEro pblyara: *Possibile opening angles of upper arm:
-90°, 75°, 60°, 45° gna npwkuma Trna "A1" n"B1” -90°, 75°, 60°, 45° for clamps type "AT and "B1”.

-70°, 60°, 45° gna npwkunma Trna "A2" n "B2". - 70°,60°, 45° for clamps type "A2" and "B2".



V EI AUTOMATION S.r.l

NMHEBMOMNPW>XWM "DL 63" tun "A1"
PNEUMATIC CLAMP "DL 63" type "A1"

— .
& 100
P 75
%
L \
b 1435 'y 210 N
F--- Y by
F--- |
- ! i
F---1 65 \ ) 5
i s @E
8 = L
: % K o LB
Nai @ . uﬂ < s 8 §
m Fan i FQ n 4
n Nt A 63.5 n - N N o
S F7 005 ! <& D
ﬂ © \5/—\ 3 9 L‘EL ® | ®
— =
- - o]
3 ef | [e @~ syl
- _Q ™ -
B w10 50% Ve JQ‘L{? | Q@&»@g/_ 19 . 2
N B~ ¥ v P o )
f) EE%\.@EO\,\“I( \.\\\I“ g = — [‘m“- %
4. © [m Pty : "
| 30 =04 R 3 any M12x1
<] .. i N ]
o ~ Al ¥ N
=~ N4 %
ij :@ ,""/ AN
- i S »
Ny " G4
56 ' o s
m ]
9 106
1 &
#[onyck Ha Hanp.oTBepcTus nog WwndThl: £0.02 +
+—= #[Oonyck Ha pe3bboBble oTBEpCTUS: +0.1
#Dowel holes tolerance: +0.02 52
Screw holes tolerance: +0.1
100
%%Lﬂi Yron packpbiga(l)) HWKHEro pblyara OTHOCUTENBHO
: yrna packpbiBa () BEpXHEro pblyara:
0 . —— -
- 1 Opening angle (D) of inferior arm respect to opening
. O DYy & | f lever:
" A W & angle (a)of upper lever:
9 Q :9%9
e a n
T 45° 8°
60° 17°
105 =0:
= 75° | 28°
l__ 30 04 900 400
30 002
Twn OuameTp uunuugpa | Makc. MomgHT 3axuma (npu 5 bar) Bec Makc. paboyee naBneHue
Type Cylinder bore Clamping max. torgue (5 Weight Max. working pressure
DL63A1C* 63 mm ~ 430 Nm ~ 10 kr 8 bar




5

* Mpumep NonHoro o6o3HavYeHus Anst oPopMIIeHNs 3akasa Ha cTp.3

* Example of full symbol far ordering a page 3



VEI AUTOMATION Brl

NMHEBMOMNPWXWUM "DL 63" tun "A2"

PNEUMATIC CLAMP "DL 63"type "A2"

100
n = a
-5_24___5_@& 75
2801 475 2801 >
o s
o s
5 g
d_/, my
/
f 65 =02 L~
T Hi e €
o H"§~-~f‘\91 f‘ ;'I /
o o ’iu{J Bl
¥ L 304 I
a St 295 [His g 9
3 o 1y
/IS 8 3 @ | e N
¢ N-ite|e
R
Ly e
B © @‘@’&d’\’ s
30 04 o 3.5 P N i
JE = NS
- m
| #T ‘
56 [ 5 T2
Ly 106
LM
i L1 ~ O1/4"
I
o
#[onyck Ha Hanp.oTBEPCTUS MO, WTUADTHI
| +0.02
F =~ #OonycK Ha pe3sboBee otBepcTys: +0.1 ~+>
#Dowel holes tolerance: +0.02 157
180 Screw holes tolerance: +0.1
57
[
( ;[ Yron packpbiBa(l)) HUKHEro pblyara OTHOCUTENBHO
O yrna packpbiBa (a) BEpXHEro pblyara:
4 by g Opening angle (N) of inferior arm respect to opening
o © angle (a)of upper lever:
T ]
! ' a N
45° 8°
60° 17°
75° 28°
90° 40°
Tvin OunameTp unnuHgpa Makc. MomgHT 3axuma (npu 5 bar) Bec Makc. paboyee gaBneHue
Type Cylinder bore Clamping max. torgue (5 Weight Max. working pressure
DL63A2C* 63 mm ~430 Nm ~ 10 kr 8 bar

* Mpumep NonHoro o6o3HavYeHus Anst oPopMIIeHNs 3akasa Ha cTp.3

* Example of full symbol far ordering a page 3



V EI AUTOMATION S.r.l

NMHEBMOMNPW>XXWM "DL 63" Tun "B1"
PNEUMATIC CLAMP "DL 63" type "B1"

75
o =01
T 20
-h;./
s QP M | 5 C.)
&7 15 m a@g S oM
0 A2
@10 \;"‘
7
.l"lrf EJ 5 /—/ $
feg-rTT - g | 5 S
W [ “""'\\_Q N —] ]
e\
/ 97 .005 \i 5 ) o
o] =) d0g
T 10 @ 5::‘: . ©/ A & | o) LN
H e, - g - l ™~ g
e - 63.5 " e’ A
— 2 L PN § s
’5'; S ﬁ‘@" Al o
o © |II G, > e P ¢
0 30.0: o Sz ¥ W 35 N "
@ [~ 1435 " _P o o
= o F i
== ol Vi = p
v N = 1
- o N @( . M12x1
LMy
I.I'i s
3 106 " S GaT
o .
#[0onyck Ha oTBepcTus nog wtudT: £0.02 <
r— #[Oonyck Ha pe3bboBblie oTBepcTus: +0.1
) ey #Dowel holes tolerance: £0.02
Screw holes tolerance: +0.1 &
100
52
e -
o Yron packpbiBa(l)) HUWKHEro pblyara OTHOCUTENbHO
! @ g yrna packpbiBa () BEpXHEro pblyara:
- o Opening angle (D) of inferior arm respect to opening
9 I | angle (a)of upper lever:
C__Ior 1
a n
105 45° 8°
60° 17°
75° 28°
2021 90° | 40°
30 02
Tvin OnameTp umnuHgpa Makc. MOMt_eHT 3axuma (npm 5 bar) Bec Makc. paboyee gaBneHune
Type Cylinder bore Clamping max. torgue (5 Weight Max. working pressure
DLG3A2C* 63 mm ~ 430 Nm ~10Kg 8 bar




8
* [pumep NonHoro o6o3HavYeHMs st oPopMIIEHNS 3aKkasa Ha CcTp.3

* Example of full symbol far ordering a page 3



V EI AUTOMATION S.rl

NMHEBMOMNPWXWM "DL 63" tun "B2"
PNEUMATIC CLAMP "DL 63" type "B2"

L_. 3[ ) :0.02

100
2801 15
75
o 5
o R
# Tyl p—
d/ 0 T
L ~
e § \f& 1435 |
A= I i '
Sl I @ an) 635 | S
f LY . ” <
g é) 27 «0.05 \DK % _ B
uy ha?
iy g
ol | [« @2 S 2l 30n
5 9 104508 %9 P i_' g o
N . J‘Q TER e i | ol 7
& N G e J i g & | © N
i X b % / & e | @
[~ © [[D A _7“““-x_x i '\Q-" 1 q}
i 30 [~ o o - / e f %}&/.,\‘;ﬁ)_,'
5 e o
E—T I x'“"x."/ o @0 $§ -2 é
e P
56 &r\/ J]J' g
Q - |
iy 106 & M12x1
Ly
4 | \
l #[lonyck Ha oTBepcTMsa nog WtnudT: +0.02 N N
— I #[onyck Ha pe3bboBble oTBepcTus: +0.1 N S G1/4"
= #Dowel holes tolerance: +0.02 N
! Screw holes tolerance: +0.1 -
100 A
7
(o] | | ~
( N[
8]
&
m ? Yron packpbiBa(l)) HUWKHEro pbldara OTHOCUTENbHO
i : yrna packpbiBa () BEpXHero pblyara:
T | Opening angle (D) of inferior arm respect to opening
angle (a)of upper lever:
105
30 0.1
30002
Tun [OnameTtp Makc. MomeHT saxuma (npu 5 Bec Makc. pabouee
Type umnunapa Cylinder | bar) Clamping max. torgue (5 | Weight [aBneHue
bore Max. working pressure
DL63A2C* 63 mm ~430 Nm ~10 Kg 8 bar

* Mpumep nonHoro 0603Ha4YeHns Ans opopMIIEHNs 3aKa3a Ha cTp.3

* Example of full symbol far ordering a page 3



10

3AKIIOYEHUE
CONCLUSIONS

NMPOAYKUWMA OAHHOIO KATANOT'A ABJTAETCA CTAHOAPTHOWN.
NOBOU 3AMNPOC ANnA CNeYMAIIbHON O NPUMEHEHMA AHATITMSUPYETCA
HALLM TEXHUYECKNM OTAEJIOM N OTAEJIOM NMPOAAX.

OAHHBIV KATANOI 3AMEHAET NPEAOLIOYLWE BbIMYCKW.
Mbl OCTABJTAEM 3A COBOW MNMPABO OOMOJIHEHUA U UBMEHEHWNA
K OAHHOMY KATAJOIY bE3 NMPEABAPUTEJIbHOIO YBEOOMINTEHUA.

BCA AOKYMEHTAUWA NPUHALONEXNT VEP AUTOMATION
N NMFOBOU CINMOCOB BOCIPOU3BEOEHUA 3AIMPELLAETCA

THE PRODUCTS IN THE CATALOGUE ARE STANDARD ITEMS. ANY ENQUIRY FOR

SPECIAL APPLICATIONS WILL BE EVALUATED BY OUR TECHNICAL AND SALES
DEPARTMENT.

THIS CATALOGUE SUPERSEDES THE PREVIOUS ONES.

WE RESERV THE RIGHT TO MAKE ADDITIONS OR CHANGES TO THIS CATALOGUE
WITHOUT PRIOR NOTICE.

THE COMPLETE DOCUMENTATION BELONGS TO VEP AUTOMATION AND
ANY KIND OF REPRODUCTION IS FORBIDDEN.

VEP

AUTOMATION S.rl.  Via San Felice, 37 10092 BEINASCO (Torino) Italia Tel. +39 011 3972572
Fax +39 011 3972612 e-mail: info@vepautomation.it - www.vepautomation.t

AUTOMATION GmbH - Postfach 2336 D-26703 Emden Tel. 04921-450758 - Fax. 04921-
450759 e-mail: infoivepautomation.de - www.vepautomation.de

http://www.vepautomation.de



mailto:info@vepautomation.it
http://www.vepautomation.t/
http://infoivepautomation.de/
http://www.vepautomation.de/
http://www.vepautomation.de/

